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PROBLEMA 1

tres particulas cargadas estdn formadas en un linean como se muerta en la figura(Fig 1)
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Figure 1: This is a caption

calcule la fuerza electrostatica sobre la particula 3 (4.0mc)desde las dos cargas
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PROBLEMA 2

calcule la fuerza electrostética neta sobre la carga Q3 de brea calcular la fuerza entre Q1 y Q2 (Fig.2)
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Figure 2: This is a caption
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PROBLEMA 3

What is the magnitude of the electric force of attraction between an iron nucleus (¢ = + 26e) and
its innermost electron if the distance between them is 1.5 X 10-12 m?
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PROBLEMA 4

What is the repulsive electrical force between two protons 4.0 X 10-15 m apart from each other in an atomic
nucleus?
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PROBLEMA 5

Compare the electric force holding the electron in orbit (r =0.53 X 10-10 m) around the proton nucleus of
the hydrogen atom, with the gravitational force between the same electron and proton. What is the ratio of
these two forces?
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